EAGRAROBREERT — 2 N— ABISH —F

2020510848 () 12m£E2H

mmv‘/?\y777‘/9~‘)—«r)bs 32— ¥5R3K%L ‘[ﬂi} B ‘[?éiﬂ#lasﬁ] — |5 &) 1300 &
[AE4£] 1% :320,000"  23%&:9,000H”  3#%&:51,000M  437&:26,000MH . 573%&:19,000
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N N [i[mE} 122, -1-1- . - FEBF (£8)
1 4 oyt hZ—I 4 6 a5 1(2_2)8 1-1-1-1 | 38.4 1 (4_626) Bl =
RHISTLIFL N BiAXIFAF— RIZXRRY=T 7 —L
N 4 | WTHE 1:23.7 (=B . = 44 AB®Y (58)
2011 | RAF¥>X2yTF " 56.0 (53) Ses w8 ¢ (_:) amEm
L:ZgrT M —T7—K=—K B:FTH¥ > by—0 AHMIE—FRT—TIL
¢ o5 . 44 B 1:23.7 11-11-11-10{ 37.5 | — 2 421 | WEEA (£R)
3|8|10| I METUF .0 (75%) Ca | ) A
LTy TRy b B an—-X [Ealiksecd
R t> 7 | EBER 1:23.9 7-7-7-7 | 38.3| — 5 486 | LB (1£H)
48|11 2T~ Rl R ) 4 ol
R:Fa528) B:INTI59 HBET7—L
. . BER—H 124, —4-4- . - IR (£8)
S| 7ROE—UT IR o IR R TR e
L:E¥rFOvY B:TEY-—F F—L—- vy T7—LERE
= 0 +2 HHIEE 224, 00— . = INFEX (1£8)
Y ¢ IR ELAVES ) ey SR ! (4_716) AmEE
L:xLJANZ N B:Fdzayn BRI
SN N S LA BERD 124, —5-6- . - HEXE (£8)
7 3| YT TIY i 6 5170 1(214)2 R R s ?_730) ﬁiﬁg% B
Loy rA~T B:EQy b e H IV
R 8 — AIMES : -8-10- — IE# (E8)
8 0| V=1 XTLF it 6 2l 1.(224).6 10-8-10-8 | 38.9 8 (4+712) L
L:7v3IZ—-L B:ILFIVIL ANEHIS
N _ # 5 | HFHE 1:24.6 9-9-8-9 |38.9| — 9 512 | ®EZE (£E)
9|55 |P¥/7F—-L 54.0 7€) o) |1EARB
RRTT—PVRTT— b B/ —ZXTILTIR 5 4 SIS
sx i 3 | IS 1:24.8 8-10-9-11 [ 39.0 | — 10 | 437 | KEBK (£8)
10(7|9|77xv R 54.0 (3/4) (c13) | FAEA
RiA4aghyy B:AX—bTF1ILNL A %2
N - REE_ . —6-5- — THiERE (£8)
1117 8 Ea—717)l%1 % 6 54.0 1'(215>'0 6:6-56 1 39.6 1 (4—285) .;ggml_—.;% =
L:Tv AT yh— BUTTTI47 BRE IhH
® 1 —F—EBIERL
13=7r= 4,6,7,1,3,8,11,9,5,2,10
Ra=gr= 4,6,1,7,3,8,11,2,5,9,10
BEE 4,6,1,7,8,3,11,5,9,2,10
41—+ — 4,6,1,7,3,8,11,2,5,10,9
[ N3
B O 4 130H4 714K 1-4 770 e 1-4 1,870M 3JEHE 1-4-10 2,670
8 B 4 1004 4-10 200M B = 1-4 1,890/ K31 4-1-10 11,230M
1 410M 1-10 1,7400 | | B B 4-1 2,530
10 150/

ARICOVWTRDTEEERROODE. TR LI,




